
G (4×)

H (4×)

E (2×) F (4×)

C (2×)

A (1×)

B (2×)

M8×16

M10x25

8

10

D (4×)

J (4×)

SW 6
SW 5
SW 8

M6×18 6

K (4×)

M8×20

1

SW 5/6/8

VESA       900 x 600

DOWN
UP

B

G, D, J

F, K, H

26
5

VESA

50-900

60
5

50

20
0

 

L (1×)

7
5

0
 -

 1
2

5
0

 m
m

790 mm

1100 mm

8
6

0
 -

 1
3

6
0

 m
m

Instruction Manual
Reference : ST-SUP-TILT-001



2
1

2

SW 6

3

4

E

C

 

0-90°

50
0 

m
m

Support and downloads: www.speechi.net/fr/home/support/supports-pour-ecran-tbi-et-vpi/
Email: support@speechi.net

© Speechi 2019 - www.speechi.net - Tel : +33 (0)320 347 425 - Fax : +33 (0)320 347 426
Ref: ST-SUP-TILT-001-MAN-001-EN


	Page 1
	Page 2

